mean # PXL hits vs eta mean # PXL Layers with measurement vs eta |

<pixel hits> [

L]
;
$
<pixel layers> [
w
[6)]
T | T
-l
A
8,
§'-'?
v, |
@
B

w

N
93]

N

.....................................................................

.....................................................................

N
IIII|IIII|IIII|IIII
H
a
IIII|IIII|IIII|IIII|IIII|IIII|

=

0.95

5310 12 3 0.95

—original—1000evt

—fitted4 T000evt
—fit_nocpe_1000evt

£5<<d

<strip hits> [

Ratio

_ % ﬂ L

original_originalvector_100Uevl
L B . R

T AN N RS WU WS N S

T
-
-
...
<strip layers>

r\lllll||||||||||||||||||||.| /) AN T N N N T T N T N Y Y Y Y N Y N N T S Y Y |

A

LS TR e Fetee UL T

5210 1 2 3

wllll!llll

0.95 0.95



	Contents
	Page 1


